Assembly Guide
PAP Long

Assembly Guide for Projector Pedestals Long

SAFETY INSTRUCTIONS

1. Entrust mounting equipment only to experienced professionals and strictly follow the providedv safety

instructions. Improperly installed equipment may result in property damage, personal injury and/or liability for the
installing contractor.

2. Only use appropriate fastening hardware.

3. Always make sure to securely use and lock all mounting bolts. Loose bolts may become unscrewed over time due
to vibration which will then create a safety hazard.

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

A 4

"\ §
MOUNTING
SOLUTIONS

N



Assembly Guide
PAP Long

Assembly components:
Frame - 2 pcs Adjustable Leg - 4 pcs
M4x10 thread cutting screws

Rack Rail (RR-1U) - 2 pcs

Bottom Shelf - 2 pcs
Bottom Center Shelf -1 pcs
M6 rack screw pack
Steel Cup, (SG-50) - 4 pcs
Steel Cup, (SG-70) - 4 pcs

Top Plate -1 pcs
Back Cover -1 pcs

Front Cover -1 pcs

QPOVOO®O®O

Mounting kit M10 (screw,
washer, nut) - 4 pcs

Side Cover - 2 pcs

®@ @0BOGO®O

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

A 4

"0‘ §
MOUNTING
SOLUTIONS

N



Assembly Guide
PAP Long

Assembly Instructions:

2. Install Shelves (@ and @) in

Frames (@), without fixing them with
screws.

1. Start the assembly by installing
Legs ((®)) into both Frames ().

Attention!!!

-4 AR OLL EXN O e 2
3. Install the Top Plate ((®) onto ‘ ‘ .
Frames (@), without fixing them with Pay attention to the orientation Top
Sscrews. Plate (@) of the front and rear.

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

} |
MOUNTING '
SOLUTIONS

N




Assembly Guide
PAP Long

4. Install the Side ((7)) covers without 5. Install the Back ((®)) and the Front
fixing them with screws. ((®) covers.

Pay attention that the Covers must Pay attention that the Covers must
go under the edge of the Top Plate. go under the edge of the Top Plate.

6. Tighten the remaining M4x10 7. Finally tighten the M4x10 thread
thread cutting screws (@) of the Back cutting screws (@) of the Top Plate ((®)
((®) and the Front ((©)) covers. and then the bottom Shelves ().

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

} |
MOUNTING '
SOLUTIONS

N




Assembly Guide

PAP Long

8. Determine the location for the

media server, and install there Rack
Rails ((9) by fixing them to the side
mounting holes of Frame (@) with M6
rack screw pack ((D).

9. Before setting up the projector,
install Steel Cups (@) or @), according
to the hole pattern shown below, by
fixing them on Top Plate () with
Mounting kit M10 (@).

Pay attention that the Steel Cup SG-
50 (@) and Steel Cup SG-70 (@) is for
different projectors.

4 44 44 44 &

10. Install the necessary rack covers
on front for your PAP assembly. (Look
in Accessories)

1. Install the Hinged Rack Mount
Vented Cover on side and rear for your
PAP assembly. (Look in Accessories)

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

} |
MOUNTING '
SOLUTIONS

N




Assembly Guide
PAP Long

Hole pattern Barco projectors Hole pattern Christie projectors
P O. T Lo O

L] o o
Ik (]2
o ° o o ° oo oo oo . ) o L] o oe o oe
o ,© ° ° "o o o ® .%0 ,OOa o °°°oo-., o®
SO e O s A O
‘ Christie CP 2220/2230; CP 4220/4230,
. Barco E - series CP2420-XE, CP4420-XE (position 1, 2, 3)

. Barco S, C, SLP, CLP - series . Christie SolariaONE; CP2306/2308/2310, CP2415-XE

SP2K - series, SP4K- series (position 1, 2)

. Christie CP 2309/2315/2320, CP2420-RGB, CP2415-RGB
. . Barco B, BLP, L - serieg B

SP4K-27/35/40/55 - series (position 1, 2) Christie CP 4315/4320/4330, CP 4415/4420/4425/4430/4435

Hole pattern Nec projectors An example of installing a
projector on the pedestal

NEC NC 900/1000 (position 1,2, 3)
NEC NC 32XX - series

NEC NC 1700,
NEC NC1202L/NC 1402L

NEC NC 3541L/2041L
NEC NC 1201L-A

NEC NC2402ML/2403ML/2443ML
NEC NC1803ML/2003ML,
NEC NC1843ML/2043ML (position 1)

NEC NC2402ML/2403ML/2443ML
NEC NC1803ML/2003ML,
NEC NC1843ML/2043ML (position 2)

@ OCvho000

www.mnmounting.com
info@mnmounting.com

2 Merezhna str., Bila Tserkva,
Kyiv region, 09100, Ukraine

MOUNTING
SOLUTIONS

N




Assembly Guide
PAP Long

ACCESSORIES

RC-1U RCV-2U RCV-4U
Rack Blank, 1U height Vented Rack Blank, 2U height Vented Rack Blank, 4U height
(2 pcs included) (2 pcs included) (2 pcs included)

RCV-6U RCHV-13U RR-1U
Vented Rack Blank, 6U height Hinged Rack Mount Vented Cover, Rack rail for media server, UPS or other|
2 pes includ’ed) 13U height heavy devices, 1U height
(3 pcs included) (2 pcs included)

Installation 3D system:

www.mnmounting.com

info@mnmounting.com ‘

2 Merezhna str., Bila Tserkva, ‘ ‘

Kyiv region, 09100, Ukraine MOUNTING
SOLUTIONS

N



